












Time of 2 : 12 : 20 is being seen in the mirror , what 

time will it show ?
2: 12: 20 का समय दर्पण में देखा जा रहा है, यह ककससमय

कदखाई देगा?

(A) 9 :47 : 40

(B) 9 :45 : 41

(C) 9 :42 : 43

(D) 9 :41 :45



Find the option which should replace (?)

243 : 27:: 354 : ?

(A) 36

(B) 40

(C) 45
(D) 60



Find the missing one  (?)

2F : FD :: 3C : ?

(A)  HU

(B)  HA

(C)  HO

(D)  BG



Which of the following diagrams indicates the best relation between 
(Players , Singers , Students) / (खखलाड़ी, गायक, छात्र)

A. B .C .D.



Find the option which should replace (?)

BDE : 697 

CCD :: ?

(A) 677

(B) 666

(C) 667

(D) 776



Find the option which should replace (?)

29 : 319 :: 23 :: ?

(A) 252

(B) 151

(C) 46

(D) 115



Find the MISSING (?)

335  : 16 :: 837 : 

(A) 216

(B) 225

(C) 289
(D) 676



Find the MISSING (?)

16 : 46 :: 10 : ? 

(A) 25

(B) 52

(C) 64
(D) 63



Find the MISSING (?)

Agenda : Meeting :: ? : ?
एजेंडा: बैठक ::? :? 

(A) Programme : Function / कार्यक्रम: कार्य
(B) Performance : Ticket / प्रदर्यन: टिकि
(C) Map : Scale / मानटित्र: से्कल

(D) Footnote : Article / फुिनोि: लेख



Find the option which should replace (?)

11 : 1210 :: ? : ?

(A) 6 : 216

(B) 7 : 1029

(C) 8 : 448
(D) 9 : 729



Find the option which should replace (?)

(3 , 5 , 7)

(A) 29, 35 , 41

(B) 23 , 29 , 30

(C) 19 , 21 , 31
(D) 11 , 13 , 19



Find the option which should replace (?)

If 62 * 73 * 63 = 51

54 * 49 * 27 =

(A) 60

(B) 62

(C) 66

(D) 70 



Find the option which should replace (?)

5*9*4=7

5*3*1=4

7*9*1= ?

(A) 5

(B) 6 

(C) 7
(D) 8  



Which of the following diagrams indicates the best relation between Horses , 
Parrot and  Birds (घोडे, तोताऔर र्क्ष़ी) ?

A. B .C .D.



Find the number of triangle?

(A) 28

(B) 20
(C) 22

(D) 24



Find the odd one out(?)

A. CA

B. FD

C. KI

D. TQ




